1978
1,652

R,=C,-C-C,-Cy-R,
0

87,740

(V.o <15cm/s)

Rou = {3.11>< 10%(V,, —15)™® (V. >15cm/s)

Rw
C/ Cp
1
Cy 4-4-1 4-4-4
4-4-5
1 (1997)

/km Rsw
Cu
Cy
4-4-1
4-4-2
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Ci

/Km
Vma)(

(cm/s)



6.72

4-4-1 Cy
Cy
1.1
1.5
3.2
1.0
) (
4-4-3 co
Cp
sP 0.3
DIP 0.3
CIP 1.0
VP 1.0
(ACP) 1.2
SGP 2.0
PE 0.1
1.0
1.0
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4-4-2 Ci
G
PL 20 2.4
5 PL 20 2.0
0 PL 5 1.0
4-4-4 Cu
Co
500mm 0.5
200 450mm 0.8
100 150mm 1.0
75mm 1.6




g
-
o
-~
4-4-1 (cm/s) ( /km)
1996
4-4-5
(km)
/km /km /km
14,008 7,246 0.52 8,139 0.58 3,509 0.25
y=aXA X2 XJ? 3
™) X (km®) X 400mm
(km)> Xz a By B, Bs
3.373 -0.432 -0.892 1.159
4-4-6
4-4-6
149 9 186 10 137 4
5 400mm 400mm
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[V = it ol

' LI I B |
(=1
H......ﬁ..h..ﬂv.n‘al.

40km

20

4-4-2
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(2002) 4-4-7
4-4-7
1
400mm 6 x1 x1 6
400mm 6 x1 x0.5 3
3 x1 x0.25 0.75
(2002)
(2002) 4-4-8
400mm 400mm
352 6 /
285 67
394 3 /
394
171 6 /
171
152 3 7/
152
400mm 75mm-350mm 150 120 30

170
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100

D1+D2

D1
4-4-3

2002

4-4-8

19

20

44

18

39
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